Math 9

Fill in\the box to make the statement true.

4 x (L, =24

H30+ b =5 e)%=21

Steps to solving one-step equations:

5% 12 =60

Solving Single Step Equations
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» Do the opposite operation to both sides of the equation to isolate x.

» Check your answer.
Ex. Solve and check. Show your work!
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Ex: Solve and check. Show your work!
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(think about the opposite)



Questions: Solve. Show your work!
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Ex. Solve and check. (Think about the opposite)
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Example: Solve and check. Show your work!
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Questions: Solve. Show your work!
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Example: Solve.
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Questions: Solve. Show your work!
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